Question 1

Answer:

Critical Path Analysis: Examples

The prevedetee table for activities itprolwed it Arctivity M st be precedad by

producityr  COMmLter Fine iz shomw opposite. AL it
A activity o ate fetwork is 10 be draw to B -
mnodel this production process. C E

a Buplain why it is recessary 10 1se at least D A C
tuno durnrnies when drawitg the actvity E A
tetwacrk, F E
b Do the activity network usityr exactly two 3 E
durnmies. H el

9 I L, F

I i3, 1

E i3, 1

L H,E
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Question 2

Answer:

Ay eryriteetituy project is odelled by the activity netwods shovn above. The activites
are represetted by theams, The mimber in brackets on each atc gives the time, indays, to
o plete theactivity, Eachactivity sequirss one wocker, The project is 1o becom pleted in
the shortest time

a Calculate the sarly time and late titne fo0 sach epetat.
b State the critical activities.
¢ Fitnd thetotal float on activities D atd B Wil most show woiir workityr,
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Question 3

Answer:

A project ig modelled by the activity tetworl; showan abonee. Theactivitiesaie repressttad
by the atcs. The timber it brackets on each are fves the Hme, in hoiitz, o com plete the
actwity. The rifn beds it cifcles are the evant fiifnbers. Each activity pa] tirss one woiker.

a Eiplain the purpose of the dotted litne fiodn svetd 6 1o et 8.
b Calculate the sarly time and late titne for @ach &vett.

C Caleulate the total float ctiactivides D, Eard B

d Determitye the critical activitbes.
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Question 4

Answer:

Tre network shiows the actvities that nesd
10 b tdertaken tocofnplets a project.
Earh activity is represetded by an aic. The
tornbet ity bracketsisthe dusaticn of the
activity in days. The ady and late evert
tifres are t0 be showm at each verer atnd
gomne have beety cornpleted for o
a Caleulate the missing sarly and late
piiL=:}
b Lizt the two aitical pathe for this network.
¢ Fiplain what is mesant by a aitical path

Get more from http://www.getforms.org




Answer to Question 1:

a Activity D depends on activities A and C, whereas activity E depends only on activity A.
This shows that a dummy is required.
Activity ] depends on activities G and I, whereas activity H depends only on activity G.
This shows that a second dummy is required.

Answer to Question 2:

a 10 7o) 1(16) [15
10 29 45
A(10) C(11)
G(8) M(9)
0 21
10
E 21 1 54
D(5) H(12) 54
B(14)
14 E{I_S} 33 K(21)
16 33
L(6) N(12)
F(20) 79
42

b There are two critical paths:
A-C-G-I-MandA-C-H-K-M
The critical activities are A, C, G, H, I, K

¢ TotalfloatonDis21 —5—-14=2
Total floaton Fis 42 — 20 — 14 = 8§
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Answer to Question 3:

a ] depends on H alone, but L. depends on H and | b

¢ TotalfloatonD =20-7-8=5 d
Total loatonE=20-11-9=0
Total floatonF =29 -5 -8 =16

Answer to Question 4:

a 10 D(lll}

10
E4)\J14
14
9 [11 \
2N J@) |
| 14
A 14] 4
11,/ G(1)
12

b The critical pathsare: A—E—-H-KandA-E-L
¢ A critical path is a continuous path from the source node to the sink node such
that a delay in any activity results in a corresponding delay in the whole project.
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